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SCIENCE
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Class : Primary 5/

Date :27 Cctober 2023

BOOKLET A

Total time for Booklets A & B: 1h 45 min

Booklet A: 28 questions {56 marks)

Note:

1. Do not open the booklet until you are told to do so.

2, Read carefully the instructions given at the beginning
of each part of the booklet.

3. Do not waste time. If the question is too difflcult for you,
go on to the next question.

4. Check your answers thoroughly and make sure you
attempt every question.

5. In this booklet, you should have the following:
a. Page 1toPage 14
b. Questions 1 ta 28




For Questions 1 to 28, choose the most suitable answer and shade its npumber in
the DAS provided.

1. Study the table below carefully.

Group X Group Y
mould dog
mushroom | , elephant

Which of the following can be classified into Group X and Y?

Group X CGroup Y
(1) apple plant bat
(2) rose plant fish
{3} bacteria ! giraffe
{4) yeast cat

2. Study the chart below carefully.

Does it have six legs? |

Can it fly? | Can it fly?

Yes - No Yes ' No

4 Y. . ¥

A B C b

Which of the following is possible?

(1) Alis areptile.

(2) B is an insect,

(3) A and C are birds.

{4) B and D are mammals.
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Mr Lee was designing a school bag for children.

Which properties should he consider when choosing the material for part H?

A: strong

B: elastic

C: waterproof

D: able to float on water

(1} A and C only
{2) A and D only
(3) A, Cand D only
(4) B, C and D only

Which of the following shows the correct movement of food through the human
digestive system?

{1) mouth 2 gullet >stomach > large intestine - small intestine
{2) mouth -> gullet >stomach = small intestine - large intestine
(3} mouth -> small intestine > gullet > stomach > large intestine
(4) mouth - large intestine > gullet - small intestine - stomach



5. The diagram below shows a plant cell.

* .‘..O —

)

Which parts of the plant celf can also be found in an animal cell?

{(1}Wand X
(2} Xand Y
{(3}Yand Z
(4yWand Z

6.  The diagram below shows the transport of oxygen in the blood in the human

circulatory system.

; f o Blood rich in oxygen

X
l H Blood poor in oxygen

What organ{s) could X be?

A:lung

B: stornach

C: leg muscles
D: small intestine

(1) Aonly

{2y A and Conly

(3} B and D only

(4} A, B, Cand D only



Which of the following correctly shows the substances transported by the water
carrying tube and food carrying tube in a plant?

Substances being transported in
water carrying tubes food carrying tubes
(1) water only sugar and mineral salts only
{2) water only sugar and oxygen only
(3) water and mineral salts only . sugar only
{4) | water, mineral salts, and sugar ~ sugar only

The diagram below shows a plant.

flower

leaf

Based on the diagram above, which of the following statements isfare correct?

A: The plant has spore bags.
B: The plant has a strong stem.
C: The plant can make its own food.

(1} Conly

(2) B only

(3) A and C only
(4)A,Band C

Which of the following statements about reproduction in both humans and
flowering plants is correct?

{1) Both involve fertilisation of the ovules.

{2) Pollination must take place before fertilisation,

(3) The male reproductive cell in both humans and plants is the sperm.
{4) The male reproductive cell will fuse with the female reproductive cell,



10.  The diagram below shows the stages of a life cycls of a butterfly.

A 8 C D

Which of the following correctly shows the life cycle of the butterfty?

(1) ) (2)

SIS e RN

D - C D B
[ B |« I A &7
(3 5 (4) 5
/ ™~ / S
8 C | c D
] a & ~J A &

11, Janice kept a flowering plant in her garden. After two months, she observed
some changes in her plant as shown in the diagram below.

At the start Two months later

Which of the following process(es) had taken place?

(1) fertilisation

(2) fertilisation and pollination

{3) disparsal, fertilisation and pollination
{4} dispersal, fertilisation and germination

i
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The diagram below shows the dispersal of seeds by plants X and Y.

—_—
wind direction

AR

Key
A : Parent plant of X
[_\ : Young plant of X

9 : Parent plant of Y

O : Young plantof Y

X Y

D1 wingike

structure dry pod

with seeds
@]
juicy flesh ——.
(3}
dry pod wing-like -

with seeds structure
(4)

juicy flesh -

wing-like
structure




13.  The picture below shows a light bulb with parts labelled X, Y and 7.

X
z

N —

Which of the following correctly represents the materials used to make parts X

Y and Z7
X Y Z
(1) glass ; metal plastic
{2) metal rubber : glass
{3} plastic metal metal
{(4) metal metal glass

14, Zach set up the circuit as shown in the diagram below.
—]i |11t
X

When he closed the switch, the bulb fused. Which of the following could have
pravented the bulb from fusing?

(1} using fewer batteries

(2) adding another switch

(3) ¢losing the switch slowly

(4) changing the direction of all batteries



15.  Shawn wanted to find out if bulbs connected in series are brighter than bulbs

arranged in parallel.

A: type of bulbs
B: number of bulbs
C: brand of batieries

D: arrangement of bulbs

Which of the following variables should he keep the same for the experiment fo

be a fair one?

(1)Band C
(2YCandD
(3)A,Band C
(4)A,B,Cand D

16. Study the circuit below.

e—y

et e

0

®

@D

When one of the bulbs fused, the other bulbs could not light up, Which bulb had

fused?

(1) A
{2)B
@3)c

(4)D

17. Which of the following correctly represents the different states of matter?

Solld Liquid Gas
(1) snow apple juice clouds
(2) clouds coffee waler vapour
{(3) plasticine clouds carbon dioxide
(4} cupboard honey clouds

v




18.

19.

20.

Which of the following statements about the water cycle is true?

(1) Animals and plants are not involved in the water cycle.

(2) The water cycle only happens during the day when it is bright.

(3} The water cycle ensures a continuous supply of fresh air en Earth.

(4) The Sun provides the energy required for the processes in the water cycle.

Tommy filled a plastic bag with 400 cm? of tap water at the start. He tied a knot
at the middie of the plastic bag.

- 400 cm?® of tap
water
knot

Based on the setup above, which of the following statement(s) isfare true?

A: The shape of water has changed.
B: The mass of water did not change.
C: The total volume of water has become greater.

{1} A and B only
(2)B and C only
(3)A and C only
(4}A, B and C only

Substance X is a liquid ai 50°C and a gas at 80°C.

Which of the following correctly represents the melting and boiling point of
Substance X?

Melting Point {°C) Boiling Point {°C)
(Y 40 85
(2) 45 , 75
3 55 80
(4) Y 100




21,

22,

Susan is looking for a container to store her ice cream for a picnic,
Which material is the least suitable to store the ice-cream?

(1) metal
(2) glass
(3) plastic
(4} rubber

Study the selup below carefully. A metal block is placed between material A and
material B. Materials C and D are arranged as shown in the diagram below. A
dark shadow of the metal block could be seen on material C.

metal
torch block

e -

Which of the statements below is true?

(1) Material A must be wood,

(2) Material B must be clear glass.
(3) Material C must be clear plastic.
{4} Material D must be tracing paper.

10
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23. An experiment was conducted in a raom of temperature 32°0.

Two cups, A and B, were filled with an equal amount water of different
temperatures as shown in the diagram below. All the water in boih cups were
then poured into a large mixing bowl,

water at 20°C waler at 100°C

-

The temperature of water in the mixing bow! was taken immadiately
Which of the following statements is correci?

(1) The temperature of water in the mixing bowl is around 32°C.

{2) The temperature of water in the mixing bowl is lower than 20°C.

(3) The temperature of water in the mixing bowl is higher than 100°C.
(4) The temperature of water in the mixing bowl is between 20°C to 100°C,

11



24, Study the set-ups of the magnets below,

25.

Q

R

E

In which set-ups will the magnets attract each other?

{(h)Qand T
(2)Rand S
(3)Qand s
4Sand T

Which of the following is false?

(1) Aforce can change the mass of a moving soccer ball,
{2) A force can change the shape of a moving soccer bali,
(3} A force can change the speed of a moving soccer ball,
(4) A force can change the direction of a moving soccer ball.

12




26. Ramii placed three discs, X, Y and Z, through a holder as shown below. The
discs remained as shown in the diagram below.

Pisc X

DiscY

Disc Z

Which of the following is true?

X must be a magnet | Y mustbe a magnet | Z must be a magnet |
M No No No
(2) Yes No Yes
(3) No Yes Yes
(4) Yes Yes No N

13




27.  Which of the force(s} can act on an object from a distance?

A Gravity

B: Friction

C: Magnetic force

D: Elastic spring force

(1) A only

(2) B and C only
{3} A and C only
{4) B and D only

28.  Which of the statements show the effects of a force?

A: Rain falling on the ground

B: Leaves on a plant tuming brown

C: A metal spoon bent when pushed down

D: Water from the ground evaporated after some time

{1) A and C only
{2) B and D onty

{3) A, C and D only
(4) B, C and D only

End of Booklet A
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Answer all the questions in the spaces provided,
29.  Study the flow chart below carefully.

Living things

v
[ Isita ] Yes
. , A
microorganism? J

No

Does it have : Yes

feathers?

L
&
24

No

7

Yes

v
L]

Does it lay eggs?]

No

7

"

{a} ~ Which group of living things does organisms A and B belong to? (2m)
Al

B:

{b}  State cne similarity between organism C and D. {1m)

(c)  Mike concluded that organism D is a mammal as it does not lay eggs.
State one other way to determine that organism D is a mammal. (1m)

15
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30. A scientist found a single-celled organism in a pond. He observed the organism
closely under a microscope and labelled parts of the cell.

cell membrane —— — — cyloplasm

A

nucteus

cell wall —.

chloroplast

{8} Name two perts of the cell that suggest it could be a plant cell, (2m}

(b)  The scientist discovered that the organism can make its own food.
Explain how the organism is able to make its own food. (1m)

16



31.

(a)

{b}

Cedric wanted to find out if the number of jumps affecied his heart rate. He
measured his heart rate before and after he did 20 and 40 jumping jacks
respectively. He rested for five minutes before each attempt. The table befaw

shows the resulis.

heart rate bafors

heart rate after

heart rate after

any jump 20 jumps 40 jumps
{beats/min) (beats/min) {beats/min)
1% attempt 64 79 | 95
2% attempt 62 75 93
3% attempt 63 76 92

What is the relationship between Cedric’s heart rate and the number of j jumps

that he did? {1m)

Explain your answer in {a). (2m)

17




32. The diagram below shows parts of a plant.

{a)  Draw three arrows { ~——#)in the diagram below to show ho

w water is being
transported to parts of the plant. {1m)

roots

stem leaves

flowers

(b)  Some food carrying tubes were removed from th

& stem of the plant as shown
in the diagram below.,

— L Partx

PartY

RN\

Ting Zhan measured the thickness of the stems at Part X and Part ¥ over 10
days and recorded the measurements in the table below.

Part . Day1 Day 5 Day 10
X 16cm 18cm 20¢cm
Y 16em 16cm 16cm

. Explain why Part Y remained the same but Part X grew bigger. (2m)

18



33.  Maggie grew some green bean seeds. She observed the seeds for two weeks
and drew her observations of the different stages of its fife cycle.

o &) 7
- f:,?“:‘ RS
A B B C ' D

(a)  Fillin the blanks below with the letters, B, C and D, to show the correct order of
lhe stages of the life cycle of the green bean plant accordingly. (1m)

A

\\ //

{b) Compare how the young plant obtains focd in stages C and D. (2m)

{c) Maggie wants to carry out another experiment to find out if the young plant
requires sunlight to grow. She listed some variables in the table below, Put a tick
(¥ }next to the variables that Maggie should keep the same. {1m)

Variables Keep the same
Type of plant
Location of plant
Amount of water given

19 4




34.  The diagram below shows the human male

reproductive system and the plant
reproductive system.

E

human male reproductive system plant reproductive system

{a)  Which pari of the plant reproductive system, A, B or C, has the same function

as part X of the male reproductive system? (1m)

{b)  State one function of part C of the plant. {tm)

a0 , 2

G



34.  The diagrams below show three flowers, W, X and Y. Some parts of the flowers
have been removed.

(€} Which flewer will still be able to develop fruits? Explain your answer. (2m)

(d) Based on the diagram above, which of the following fruit is likely to develop
from flower X? Put a tick { v } in the correct box. (1m)

21




35.

(a)

{b)

An electrician set up an electrical circuit as shown below.

XE) {

How are the bulbs in the circuit above arranged?
State one advantage of arranging the bulbs as such in the circuit above. (2m)

The electrician was tasked to draw an electrical circuit for a three-rocom
apartment, The requirements are:

- The lights for rooms 1 and 2 must be able to be turned on and off at the
same time.
- The light for room 3 must be able to be tumed on and off independently.

Using 2 switches and 3 bulbs, help the electrician draw the electrical circuit,
The power supply has been drawn for you. (3m)

Power Supply

I
| K

Room 1 Room2 Room3

22 | 5




36. A basin is filled with marbles as shown below.

825 cmy?
500 ern®
375 cmd
280 cm®
125 em?

300crm? of water was poured in and the water level reached 375cm?®

—- 625 cm?
FSDG cm?
— 375 cm®

250 .cm?
125 cm®

(a)  Based on the set-up above, state one property of water. (1m)

(b)  Explain why the water level reached 375 cm? and not 550cm3. (Tm})

(c)  Anather 100cm? of water was then added into the basin.
What is the new water level? {1m)

23



37. Bob used the setup below to obtain pure water from sea water, which contains

salt.
cu
clear plastic sheet\ m{: k Va P
pure water
sea waler ‘
‘ clear basin
(a)  What processes are involved in the set up above in order o obtain pure water?

(1m)

{b)  Bob wants to collect pure water at a faster rate.

Bhould he use a cup with a
wider or narrower opening? Explain why. (2m)

24




38.

(a)

Sammy was at a puppet show. W, X, Y and Z shows the possible positions of
Puppet A and B.

screen <
w Y

X Z
Vi

torchlight ~——%

Puppets A and B are made from different materials. Their shadows are cast as
shown below,

Actual Size of Puppet A and B Shadows of Puppet A and B
sm{ N (O} som
A B

Where do you think Puppets A and B are placed (W, X, Y or Z)? Explain your
answer, (2m)

Puppet A:

Puppet B:

Samimy observed that the shadow of Pnppet B was darker than that of A.
Why is that so? {1m)

25




39.
(@) Whatis the difference between boiling and evaporation? (1m)

(b)  Mrs Tan prepared a hotpot for her family. Soup is placed in the hotpot and a fire
is lit 1o heat up the soup unlil it boils. Foad is then placed in the boiling soup to
be cooked.

food

boiling soup

Mrs Tan noticed that when she placed some coid and uncooked food into the

hotpot containing boiling soup, the temperature of the soup dropped.
Explain why. {2m)

26



40. A speeding car collided into a tree. It came o a sudden stop and the front part
of the car was badly crushed.

(3)  Write down an effect of the force of the collision on the car. (1m)

(b)  What are two other effects of a force? (2m)

{0

(ii)

(¢}  Read the statements below carefully and identify the type of force exerted. Put
a tick (v} in the correct column. (2m)

Statemeant Fush Pudl

(i) | Lifting a bag off the ground.

(i} | Like poles of a magnet facing each other.

End of Bonklet B

Please check your work.

27
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https://freetestpaper.com/

The diagram below shows paris of a plant.

Draw three arrows { ——} in the
transported to pars of the plant,

ronts

Some food carmying tubes were re
in the diagram below,

L

flowrers

G

e

b

&

diagram below to shove ho
(1m)

leaves

|

Ting Zhan measured the thickn
days and recorded the measy

wwater is being

moved from the stem of the plant as shown

255 of the stems at Part X and Part Y over 10
rements in the table below,

Part Bay1 Ray & Day 10
X 18cm 18cm 20¢m
Y 16cm 16cm 18cm

Explain why Part Y remained the same but Part X grew bigger, (2m)

Without the foad-carying tubes,

cannot be transported to Y

3
f R —

ford made by the __YetaeS
stored

hence the food Is

at_ X

17

3% Maggie grew some green bean seeds. She observed the seeds for two waeks
and drew her observations of the different stages of its e oycle.

3 “ A«v@

A : B c D

{ay  Filtin the blanks below with the letters, B, C and D, to show the comrsct order of
the stages of the ife cycle of the green bean plant accordingly, (1)

A

(b}  Compare how the young plant gbtains foad in ste

In Stage C, the seed g

young plant has lpaves to,_moke #s own food.

fc}  Maggle wants to eary out another experiment o find out if the young plant
eauires sunlight to grow. She fisted some variables in the table below. Put a tick
(¥ ynextto the variables that Maggie shoulkd keep the same. (1m)

Variables Kgep the same
Type of plant v
Location of plant .
Amount el water given L \\

18
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35.  An placirician set up an electrical elroult as shawn below.

Y
{8} Howarathe bulbs inthe circuit above arranged?
State one advantage of arranging the bulbs as such in the cireuit above. {2m)

qgg@mm%mﬁsm@aEgmm»ﬁzm:gmoigaag fuse, the other bulb
can stil light up .

The eleclriclan was tasked to deaw an elsctrical ciroutt far a threg-raom
() apartment, The requivements are:

- The lights for rooms 1 and 2 must he abke 10 be turned on and off at the
same time,
- The lighi for room 3 must be able to be furned on and off independantly,

Using 2 switchas and 3 bulbs, help the elecitician draw the elactical circuit.
The power supply has baen drawn for you. (3m)

Power Supply
, m

..h*_
Room 1 Room2 FRoagms
I s i S
1 : )
B-®f-

| ,
T

B o re e o

21

36.

{a)

]

(e}

A wmma is filled with murbles as shown below,

bIELE N Y
e

375 em? ' &

R e m R R T = et Nk
o s
R R AN N R RN R RN TN
- BEONORSANKIKR AR KRN __-ﬁ..au.

Based on the set-up above, state one property of waler, {1m})

Water has no deofinite m,..x.mv@ : .

Explain why the wster level reached 375 ¢m® and not 550cm?. {im}

tha marbles that was provious 4
Another 100 cm® of water was then added into the basl,
WWhat is the new water level? {1m)

478cmd

Water ocoupy the gpage __between
sthipiad ir.

22
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What is the diffsrence between boiling and evaporation? (Tm}
o oy

Evaporation happens whendhem-des temperaturederenembit boiling of
wrter  fiappens at 100 o0

oR

Evaporation takes place al the suitaca but boiling takes place throughout the
figuid.

or

Evaporation takes place at_an y ‘wmgecature whilp

Boiling takes place at a Fixed temperaturemofling point.

rs Tan prepared a hotpot for her fam ity. Soup is placed in the holpot and a fire
s #t to heat up the soup until it balls, Faod Is then placed in the boiling soup to
be cooked

food
v.wwm-_._! .

boiling soup

Mrs Tan noticed that when sha placed some cold and uncooked focd into the
holpot containing boling soup, the lemperature of the soup dropped.
Explain why. {2m)

The boiling soup ___lees veet  tothe cold uncocked food, hence
the wetsehas 1085 ,

et lef .
Seap
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A speeding car collided into  tree. i came to a sudden stop and the front part
of the car was badly crushed.

White down an effact of the force of the callision on the car. (1m)

Thecar _stopped | enoving
Thecar ____¢hanges s el ,\

What are bvo other effects of § farce? {2m)

- Afores changes the direc! of a moving obiect ,
- Aforce increases/decreases the speed of 3 moving objeet.
stationary object to move.

- A force causes 3

Read the statements below carefully and identify the type of force exerted, Put
a fick {¥}in the correet cotlumn, {Zm}

Staternant Push Pull
| Lifting 2 bag off the ground, v
(i)} | Like poles (repel) of & magnet facing each ¥
other.
e d



